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THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| TE (B ESM)
JEK R
= 1 98, 458, 135
ER LT
= 1 12,273
Fe AL T
= 1 12,273
HAHTFEIEL
= 1 92, 703, 132
ARG L
(L&A B 1A
= 1 37, 756, 622
n=7" - 4 e 4. 5m ETavE =R R500k J
m 60 366, 576 21, 994, 560
Xk STK400 ¢ 216. 3 X t8. 2 X 8620
%N 8 1,479, 134 11, 833,072
(E2 3=
= 1 3, 654, 860
B AR A
= 1 274, 130
ARG L
QFHA B 1AM
= 1 30, 839, 758
n=7" & M Am Eravd R IRI500k ]
m 40 349, 124 13, 964, 960
Xk STK400 ¢ 216. 3 X t8.2X 8120
i 6 1, 383, 858 8,303, 148
(2=
= 1 8, 297, 520
B AR AR A
= 1 274, 130
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THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| TE (B ESM)
ARG L
(BF A B 1AM
= 1 24, 106, 752
n=7" - 4 e 3. 5m ETivd =W R500k J
m 47 198, 758 9, 341, 626
Xk STK400 ¢ 114.3X t6.0
i 7 1, 355, 558 9, 488, 906
VRS
= 1 5,276, 220
Gan
= 1 5, 742, 730
ARME T
= 1 5, 742, 730
B TR
= 1 98, 458, 135
I L
= 1 13, 966, 688
B3 TS
= 1 1,019, 545
et By
= 1 55, 467
B R FEART e
= 1 55, 467
BIGREsET (K30
= 1 964, 078
MR E (FE L)
= 1 12,947, 143
Wi
= 1 112, 424, 823
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THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| TE (B ESM)
B
= 1 37, 205, 703
T AT
= 1 149, 630, 526
— R
= 1 24, 139, 474
TS
= 1 173, 770, 000
THEBLFH Y %H
= 1 17, 377, 000
TH#&G
= 1 191, 147, 000
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